- F-C4

\5\ ' “on f
Practice Assessment /
Consider f(x) = —2x% + 18x — 28

1. Is f(x) continuous on the interval [5,9]7 Explain.
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2. Explain why there must be a value c in [5,9] such that f(c) =8 m
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3. Find the value or values of ¢ in [5,9] such that f(c) = 8 guaranteed to exist in problem 2

F(>=-2¢%15c -25 = §
O A¢*~/g 36

- g((/t? G ¥ IS/)

O 9((’5)(("é>
*"3 'f:._.é_...m

D-CL AR
4. Use the limit deﬁnition of derivative to show that if f(x) = 2x?> —3x+5, then f'(x) = 4x — 3
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For each problem, find the derivative function. ’.ﬁ — A v
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9. Below are selected valyies of g(t) , a differentiable function. From the data, find an approximation forr
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12. Find the horizontal and vertical asymptotes, if any, of the function f(x) =

answers using limits.
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- 10. Shown here is a graph of

differentiable function f(x). Find an
approximation for the value of f'(—4).
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11. Use the graph to approximate the
value(s) of z where f'(x) =0
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—x+3, x<0

13. Find the values of a and b that make the function continuous everywhere. f(x) ={ax?+b, 0<x<3
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14. Find and classify any discontinuities of the function y =
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15. Use the definition of contmulty to determine whether or not f(x) is continuous everywhere.
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